Hindawi

Mathematical Problems in Engineering
Volume 2020, Article ID 4053825, 10 pages
https://doi.org/10.1155/2020/4053825

3FDFJWFE +VMZ
s % 1T !

# $%

3FWIJITFE

# & #

"VHVTU

"DDFQUFE

o)

4FQUFNCFS

1vC


https://doi.org/10.1155/2020/4053825

2167 $
0

R

0+

5C8 1

$

%4



Cloud master station
platform

Wired/wireless
communication
mode

Edge

computing computing

i

W
N

Intelligent - o
terminal I.'ﬂi dﬁu Intelligent Terminal
Sensmg
Smart meter / -
FiGure {'" 0 . 1 0+
$ 0 1 0 3 $
+ $ $ "% ! ®
$ = (s $ ®
1 0 ( D $ $ 8 (
. $ $ 0 A+
1% 3 P
(s 0/ K 9 $ S $ $ 0%
/ 0 $ $ 0 L
% 0 > - $ $
, 0 $ S 0
$ 0 N = $: 0 / $ 0 1 - $-
s ) 0 5 "*J""8
$ 010 ( $ $5 28
$ 0 0 $ $ 0 - EA + $
0 $ $
1 4 0 ( 0 d
0 1 0+ (S
0 ; s P S Z=Z +v, (1)
0 /
" + $ $ $
0 v, SRS $ Yz
$ , $ $ # $ 0
% s & 0 $ 9 % $
3 0 '
: B % 3"‘ 0 Z=7 +v,+b, (2)
$ 1 4 9
0 $ $ $ B S 2
3 $ / $
g () / * sl % e
$ $ $
$ 3 L0 S 0 $



Measured value z Systemstate estimation value 0 $ :& + $= $ 0 $
Security N
Network connection statue s estimator Parameter and structure $ F= Z Ty (x), (5)
Network parameter p > estimation of identification i=
- 7 < $ 0 $ 2
FiGUre & # $ ( $ $
$ -~
|
$ $
- $ # -+ $ 3 $ 0
$ 4 - $ / 2 4
+ $ 4 € $ 0 /
4 0 $ 5C8 C 4 0 1
$ 0
- 0 $ - x=f(9:6.50) (6)
0 $ 58 $
4 g ! $ 0
0 $ 0 4 $- -
_ i/ 3 1 $ =
U=Ue", (3) $ 0 ) ] /s
0 $ -
U=e+jfi (4) < $ $
> 0 # > 0
- i ® 0 ® ) $ BB
, 1 L / $ 3 $-= 0
$ $ N $ 0GA
$ $ /.- $ $
4 s o . "o # 3 4 ( 5% "
E - ¢ o $$ 5 B 0
> $ $ 3
z=h(x.p)+T, 7)
” * $ $$ 2 $
! # /% h(x, p,)
+ = $ $ 0 $ * : (
$ $ $ /
SO $ 3 $ s s
2167 $ $-= + $ $
$ 0 0 $ (
$ $-= T=v,+71, (8)
v, 0 $ $
0 1 #* 11 9 $= $ $ 0 $
) $ 0 $ $ 05 $ 0
5 0 0 $ L 0 $ $
$ $ 0 # 0 $ 58 5F8-
0 0 $ —z-h - 9
$ $ / N 0 0 r z (x’ pe) Ve ( )
$ 4 + 0 $= $
> 0 0 /I $ $ $
$ > 0 0 $ $
$= $ $ 0 0 / $



2 % 7 $ %

2 $:)

J (%, o> Ver €5 b;) = TWr + P< Z e + z bi>,

i€S, i€S,,
st, r=z-h(x,p,) =V,

- Me;<p,;<Me,;,Vie SP’
- Mb,; <v,; <Mb,Vie€S,,

e €l b el
(10)
8 $ 4 0 $ $
$ 4 (0 $ 40
$ $ $ 4.
$ 408 $ 0 0
$ 5
) 0
$ - 0 ve, I
0$ $ $ Ve~
0 $ 3 3 $ 0 Vv,
0 $ 3 $ 0 Ve
$ $
| $-= $ $
3 0 o1 0+ =
+ L 0 $ 3 2167
$ 9 C
58M . /% $ $ 0
$- 3 - $
-/ - / $ $ (
$ 0 - /
58+ $ $ (
$ + $ $ $
$
$ (
$ + 0 $ $
! $ 49,0 $ (
$
5C8 J $ $ $ (
$ $ $
$ - 4
58 + $ 3
2167 $ 2167 $
$ $
$ + 2167 $
$ $$5 (
= 0. - $
$
5E8 —+ $ $ $
2167 $
0
$ $ $ §
p=p +p. (an
589 $ $

0- # $
$ 0 1
$ 0 $

$ -

0
0
0 $ 0
1 0+ -
/
$o A+
$ $
. / $
9
581
$ 0
+ - $
+ $
0
+
$ 0 $
0 $ 0 $
0 E- A
D 0
0 0 $ -
0 $ / 0 FA
58N /$
$ (S
$ -
$
$
$ - 0 $
/-
5C8 J & $
$
9 $
$
$ - >
0 $
587 &
##, /
D / 0
0 $
$$ $$ +
$ $
$ $ $ 0
0 0 $



1

Start

v

Reading power system network model

:

Local state estimation

v

2

v

Identification of both side errors and parameter
errors through the MIQP model

v

Linear correction of
parameter error

v

Parameter estimation

v

Select suspect measurement and
parameter set End
Ficure Ct 9 . 0 $ 3 2167 $
L Intrusion detection
Digital signature Network system
Iden.t 1ty. monitoring
authentication ~ +—— intrusion
access control detection
Access control based on Abnormal behavior
attributes and roles detection
Attribute-based Location privacy and
encryption data privacy
Data encryption |—— Privacy protection
p i Privacy document
roxy reencryption management system
FIGURE | # 0 $
(r | - (& (# 0 3 0 $
$ 2167 $
T H # +  ( 3 $ $
3 $ 02167 $ $ $ 0
19%%% ( $ + %% ( M } 0 3
$ -9 Cl $ - 2167 % $ 3
$ $ L 4$ 0
$ 0 % ( $ + $ $
3 - 4% CP
$ 0 +EP 0
- $ $ 1 . 2
( s $ - 6
$ $ 0 $ $ + . $ $
4 0 $ 3 0
$
0 $
T H #
1%%%  ( $ 0 - $ +fEB P $ 0
2167 B -
% o0 e $ s - 2167 $
- 3 $
0 3 0 $
5 # 3 ; $ 4%
+ 4 $ - $ 9



2 $ 7 %
TABLE | # 3 - - %
$ 3
M
$ $ $ 2167 $
243 $
1 3 1
4
(E (E E FG (E
C C C C
7 (E 7 (E CEFC 7 (E
7 ( 7 ( CCE E 7 (
9
A
7
FiGURE Et J $ 0 %% ( $
100
g 80
g
o
£ 60
<
<
g
= 40+
&
g "
2 20}
w
0 1 1 1 1
-65 -45 -25 0 25 45 65
Assumed percentage of parameter error
—m— Parameter identification method of total error drop indexes
—e— Parameter identification method based on MIQP model
Figure ¢+ 0 $ . / 0. -/
19 0 $ $
$ - $ 0+E P- 0 3
2167 $ $ 3 $ $
4% 0 3( M ] 0 3
0 $ $ ( 2167 $ $ 3
$ $ K 4 $ 0



TaBLE { M. $ 3 - - %
7 $ 3
M
$ $ 2167 $
1 13 24%s 13
( (E c C (
(€ C E (€
(c (E cc ¢ (
( (C E (
C ( E
(F E( CE (F
(¢ (F C G
100
g 8ot
g —
% 60 -
£ |
5
40+
I
g 20 -
0 Il Il Il Il
-65 -45 -25 0 25 45 65
Assumed percentage of parameter error
—m— Parameter identification method of total error drop indexes
—e— Parameter identification method based on MIQP model
Ficure F # 0 3 0 - - %
TasLe Cl 0 $ $ $ $
7 $ 3
M
$ $ $ 2167 $
B 24 $
1 1 3 1
4
( c ( CF (
7 (E 7 ( C 7 (
( (c G FC (©
7 ( C 7 ( EG 7 (
$ 0 > + " . M C- $
4% CP 0 $ $ $ 0
$ $ 2 3
0 $ 2167 $ $ 3 $
0 . $ $ 4%
0 +E P- 2167 $ $ $ $ 0 $
$ 4 $ $ 0 $
$ 0 3 0 .
4% 0 > - - # ) 3 +



100 : :

Accuracy (%)

10 100 200 300 400 500 600 700 800
Number of training samples

—&— Proposed method
—O— Reference [7]

—— Reference [9]
—# Reference[11]

Ficure & $ 0
$ $ .
$ i A+ 0 $
M7 + MN
=M 7 . (12)
$ $- 5M78
$ - 5MN8
1 0 0 $ 0
$ - $ - $ iF-G- A
0 $ 9
1 0 $9 $
$
$ 0.
$
¥ (
0 -1 0+
$ 05 $
0 . $ 3 $
2167 $ -+
$ $
$ - $ / $
0 2167 $ 1 $-=- $ -
0 $
$ $ $-= > 0
$ $- 0
$ 3 " $ $
$ 0% 0
$ —+
$$ < 0 $
$ $ $ 0
$ 3 < (
3 4%
$ $ 3
-/

G
H . $ $
B 0 $ 3 4
0 $ $ $ -
./ - 0
3 B + 0 $ 3(
B 0 $ 3 $ 0
2167 $ =
0
Y & (0(#
-+ 3 0
0 $
(
-+ L 0
&1 |
+ . /. # M 7 >
0J 7 . # | 07 7 .
? -, + > $ 7. 2
D # 7 | D (
MS$B 1 3 07 . 2?2 % 7 $ ;
5 2JQ! 2 ECC5CG QQE 88
oA N Jd =27 - R =
122 24 ( ( ( BB (
$ $ $0 7R(-  (
$ {2 - 4 $ 3
3$$$ $ C
FGSFC F
0AD ? $ = 17 M - Q 2 J -
o $ $ $ ($
$ - (0 $ $0
$ - 3$8$ ™
< F- EE SEEC - F
iCA 2 =/ VAR T (
0 $ $ 0
$ (
$-= $-; - G
F S CC- G
oA % / $-=-
$ 0 - - 0 (
$ (/7 9% - - G-
F SFE- F
EAY# -#, -RQ# $- 7QR D $
0 $ /
- 3B%$
CCCGSCCEC-
oA .. $
$ $ / $ -; 3B$$
#H GG- EFSF - G
OFA " /-2 ? R "™» -:D (
0 0 > / $
$ - 35$ " # G-
C- CS -
6A”) by, s ) # $ 3(



# 7 # C)
E - SE- E
iGAN N 7 / - 2 1
= | $ $ 0 (
$-; 3B #
S CC G
e A J ? -:J0 0
> / $ $ -; 3$%$%
3 3 # C -
GS F F
it A2 Q - #"0 7
$ / $ 0 $
$ 0 = #H
# - - GSE -
@ A > -1 H : ( 0 $
( $0
1 M; = #H H GF
E- ES G
pcA23 J7 1# $ -, = 0
$ $ $
$4 - &
#H # > ? G
E ESE
0 AQ# 2 HQS$ :%$s
0 -3 ) 8!1&
) - CS E
QEA) # -# 70 % 1) JM
R 2, - 4
$ 0 $ -; 3B$BA 0
# - - SF- G
oA ) -6 Q -:J = (
0 $ - $
$ $ ( , 4 3$$$
# - C ES C-
F
0 FA D) ! J) $ (
$ 3 0 $ $ (
; 383 # -
G FSGFG- G
¢ AKND/ 0 JQ -
= 0 $ /-; 3533$
0 H - E-
SF-
0 GA! -M H -1 L 0
$ $ $ 3 0
$ # &
# C SCF-
0 A) ) 17 -2 2 # ( (
$ 3
$ ( $
1 $ - C E- EES
g0 AT 2 N 2 " 4
/' $ 3 0 $ $ $
3$$s # C
C ESC F
oA I -7 -:J0 0
> / $ $ -; 3$$$
3 3 # C -
GS F
Bon to-.) 9D
$ 0 0 $ $4
$$ H# &3 !

B A7) # ? = $0 $4
$-; 0
#H & 5 # - C G
EGS G- F
0 EA” . ) - $ 0
< $0 $ $
$ 3 -3 0 $
&$ # - - F- C SC G- G
8 A) # 9 - 9J 7 ? -:? 4 $
0 $ ( $5 0
3 &5 # 1 #* -
CS E F
§ FA g -1) 1 $ 0 H(
$ $
$ E - ES G - G
¢ A9)D T 2 % o C (
$ > $$
$ - 1 - F-
cs - F



